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Answer any five questions
All questions carry equal marks
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l.a) »Draw-the cross section of a/,sjngle~-~cylinder iseark ----- ignition engine-and discuss the-.
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2.a)  Explain the effect of various engine variables on SI engine knocking phenomena.
b) Why cooling is required for IC engine? Explain different methods of cooling. [8+7]

3.a) , Explain the phenomenon of knock in CI engines and compare it with SI.engine knock. .
'b) / "Heéw does the fuel rating inﬂue;fég the kj_aockin@;’)laij_i_ AT
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4.a) Explain the method of motoring test for obtaining friction power of an engine.
b) The following data is referenced to a four stroke petrol engine: diameter 100 mm, stroke
125 mm, speed 2000 rpm, indicator area 2.5 mm’, length of spring 2.5 cm, spring
constant 10 bar/cm. Calculate: i) indicated mean effective pressure ii) indicated power

-

iii) indicated thermal gfﬁciency if fuel rate is 0.02 kg/ﬁ_gnd Cyv= MOOQ«kJ/kg. [6+9]
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5.a) }/‘—*b_é;gr{fjine th(,e‘"sizf‘-gf the cyli;:*’der\fot; a ,';loublg;‘;ctq‘ﬂg._ air comgfes%ggngf 37kW
air i drawn in at 1.01325 bar and 15°C and compressed according to the law PV'?=C to

6 bar. The compressor runs at 100 rpm with the average piston speed of 152.5 m/min,

neglect clearance. :
b) Explain the significance of positive displacement compressor used to compress the air.
[8+7]
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froin a reciprocating aif'compressor. " 7 X%

b) What is the role of impeller in the centrifugal compressor? Explain. [8+7]
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: Derive an expression for the polytropic efficiency of centrifugal compressor in terms of
inlet pressure delivery pressure, inlet temperature and the ratio of specific heats. [15]
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8. /\Discuss the méth
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by Diffferentiate between two stroke engin€ and four stroke engine and'explain. 7 [83-7]
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